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iz'u iqfLrdk Øekad / Question Booklet Serial No. : 

SECONDARY SCHOOL EXAMINATION – 2025 
ek/;fed Ldwy ijh{kk & 2025 

¼ANNUAL@okf"kZd ½ 
fo"k; dksM %       MODEL QUESTION 
Subject Code :  SOCIAL SCIENCE (Compulsory) 

 lkekftd foKku ¼vfuok;Z½ 
dqy iz'u % 80 $ 32 ¾ 112 dqy eqfnzr i`"B %32 
Total Question : 80 + 32 = 112 Total Printed Pages : 32 

¼le; % 2 ?kaVs 45 feuV½ ¼iw.kkZad % 80½ 

[Time : 2 Hours 45 Minutes] [Full Marks : 80] 

 

ijh{kkfFkZ;ksa ds fy, funsZ'k @ Instructions for the candidates : 
 

1- ijh{kkFkhZ OMR mÙkj i=d ij viuk iz'u iqfLrdk Øekad ¼10 vadksa dk½ vo'; fy[ksaA 

Candidates must enter their Question Booklet Serial No. (10 Digits) in the OMR Answer Sheet. 
 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give their answers in their own words as far as practicable. 
 

3- nkfguh vksj gkf'k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right-hand margin indicate full marks. 
 

4- iz'uksa dks /;kuiwoZd i<+us ds fy, 15 feuV dk vfrfjä le; fn;k x;k gSA 

An extra time of 15 minutes has been allotted to read the questions carefully. 
 

5- ;g iz'u i= nks [k.Mksa esa foHkä gS & [k.M Þvß ,oa [k.M ÞcßA 

This question booklet is divided into two sections – Section “A” and Section “B”. 
 

6- [k.M Þvß esa 80 oLrqfu"B iz'u gSa ftuesa 40 iz'u vfuok;Z gSaA ;fn ijh{kkFkhZ 40 ls vf/kd iz'uksa ds mÙkj 

nsrs@nsrh gSa] rks izFke 40 mÙkjksa dk gh ewY;kadu fd;k tk,xkA izR;sd iz'u ds fy, 1 vad fu/kkZfjr gSA 

buds mÙkj nsus gsrq OMR mÙkj&i=d ij lgh fodYi dks dkys@uhys ckWy isu ls izxk<+ djsaA fdlh Hkh 

izdkj ds g~okbVuj@ rjy inkFkZ@ CysM@uk[kwu vkfn dk OMR mÙkj i=d esa iz;ksx ugha djsa vU;Fkk 

ijh{kk ifj.kke vekU; gksxkA 

In Section – A there are 80 objective type question out of which 40 questions are compulsory. If the 

candidates answer more than 40 questions, the first 40 questions only will be evaluated. Each 

111 

iz'u iqfLrdk lsV dksM 
Question Booklet Set 

Code 
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question carries 1 mark. For answering these darken the correct circle on the OMR answer sheet 

with black/blue ball pen. Do not use whitener/liquid material/ blade/ nail etc on the OMR answer 

sheet otherwise the result will be invalid. 
 

7- [k.M Þcß esa lkekftd foKku ds 5 fo"k;ksa ds y?kq mÙkjh; iz'u gSaA izR;sd iz'u ds fy, 2 vad fu/kkZfjr 

gSaA  

bfrgkl esa 6 y?kq mÙkjh; iz'u ¼Q. Nos. 1 ls 6 ½ gSa ftuesa ls fdUgha 3 iz'uksa ds mÙkj nsus gSaA  

jktuhfr foKku esa 4 y?kq mÙkjh; iz'u ¼Q. Nos. 9 ls 12 ½ gSa ftuesa ls fdUgha 2 iz'uksa ds mÙkj nsus gSaA 

vFkZ'kkL= esa 4 y?kq mÙkjh; iz'u ¼Q. Nos. 15 ls 18 ½ gSa ftuesa ls fdUgha 2 iz'uksa ds mÙkj nsus gSaA 

Hkwxksy esa 6 y?kq mÙkjh; iz'u ¼Q. Nos. 21 ls 26 ½ gSa ftuesa ls fdUgha 3 iz'uksa ds mÙkj nsus gSaA  

vkink izcU/ku esa 4 y?kq mÙkjh; iz'u ¼Q. Nos. 29 ls 32 ½ gSa ftuesa ls fdUgha 2 iz'uksa ds mÙkj nsus gSaA 

buds vfrfjä 8 nh?kZ mÙkjh; iz'u ¼Q. Nos. 7] 8] 9] 13] 14] 19] 20] 27] 28 ½ gSaA izR;sd iz'u ds fy, 4 

vad fu/kkZfjr gSA bfrgkl jktuhfr foKku] vFkZ'kkL= ,oa Hkwxksy esa izR;sd ls ,d&,d iz'u dk mÙkj nsuk 

gSA 

In Section-B there are Short Answer Type Questions of 5 Subjects of Social Science. Each question 

carries 2 marks. 

History has 6 Short Answer Type Questions (Q. Nos. 1 to 6) out of which any 3 questions are to be 

answered. 

Political Science has 4 Short Answer Type Questions (Q. Nos. 9 to 12) out of which any 2 questions 

are to be answered. 

Economics has 4 Short Answer Type Questions (Q. Nos. 15 to 18) out of which any 2 questions are 

to be answered. 

Geography has 6 Short Answer Type Questions (Q. Nos. 21 to 26) out of which any 2 questions are 

to be answered. 

Disaster Management has 4 Short Answer Type Questions (Q. Nos. 29 to 32) out of which any 2 

questions are to be answered. 

Apart of these, there are 8 Long Answer Type Questions (Q. Nos. 7, 8, 13, 14, 19, 20, 27, 28). Each 

question carries 4 marks. One Long Answer Type Question each from History, Political Science, 

Economics and Geography is to be answered. 
 

8- fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 
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[k.M & v @ Section-A 

oLrqfu"B iz'u @ Objective Type Questions 

iz'u la[;k 1 ls 80 rd ds izR;sd iz'u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls ,d lgh 

gSA vius }kjk pqus x, fodYi dks OMR 'khV ij fpfàr djsaA dsoy 40 iz'uksa ds gh mÙkj 

nsaA 40 x 1 = 40 

Question Nos. 1 to 80 have four options each, out of which one is correct, Mark your selected option 

on the OMR sheet. Answer any 40 questions. 40 x 1 = 40 

 

1- buesa ls D;k lkekftd foHksn dk dkj.k gS \ 

 (A) Hkk"kk (B) /keZ  

 (C) tkfr (D) buesa ls lHkh 

 Which of the following is the cause of social discrimination? 

 (A) Language (B) Religion  

 (C) Caste (D) All of these 

 

2- Lora=rk ds ewy vf/kdkj dk laca/k fdl vuqPNsn ls gS \ 

 (A) vuqPNsn 14 (B) vuqPNsn 15  

 (C) vuqPNsn 19 (D) vuqPNsn 18 

 Which article is related to the fundamental right to freedom? 

 (A) Article 14 (B) Article 15  

 (C) Article 19 (D) Article 18 

 

3- buesa ls dgk¡ loZizFke efgykvksa dks oksV dk vf/kdkj feyk \ 

 (A) Ýkal (B) :l  

 (C) baXyS.M (D) Hkkjr 
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 Where among these did women first get the right to vote? 

 (A) France (B) Russia  

 (C) England (D) India 

 

4- buesa ls dkSu iapk;r dh O;oLFkkfidk gSa \ 

 (A) xzke lHkk (B) xzke j{kk ny  

 (C) xzke dpgjh (D) buesa ls lHkh 

 Which among the following is the legislature of the Panchayat? 

 (A) Gram Sabha (B) Gram Raksha Dal  

 (C) Gram Kutchery (D) All of these 

 

5- fons'k uhfr dks fdl lwph esa j[kk x;k gS \ 

 (A) la?k lwph (B) jkT; lwph  

 (C) leorhZ lwph (D) buesa ls dksbZ ugha 

 In which list is foreign policy placed? 

 (A) Union List (B) State List  

 (C) Concurrent List (D) None of these 

 

6- *lwpuk dk vf/kdkj^ uked fo/ks;d dc ikfjr gqvk \ 

 (A) 1996 (B) 2002  

 (C) 2004 (D) 2005 

 When was the ‘Right to Information’ Bill passed? 

 (A) 1996 (B) 2002  

 (C) 2004 (D) 2005 
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7- Hkkjrh; turk ikVhZ ds izFke v/;{k dkSu Fks \ 

 (A) ';kek izlkn eq[kthZ  (B) vVy fcgkjh oktis;h 

 (C) 'kjn ;kno (D) ,lŒ ,Œ Mkaxs 

 Who was the first president of Bhartiya Janata Party? 

 (A) Shyama Prasad Mukherjee (B) Atal Bihari Vajpayee 

 (C) Sharad Yadav (D) S. A. Dange 

 

8- buesa ls fdl ikVhZ dk foy; turk ny¼;qukbVsM½ esa gqvk Fkk\ 

 (A) lektoknh ikVhZ (B) lerk ikVhZ  

 (C) jk"Vªh; turk ny (D) yksd tu'kfä ikVhZ 

 Which of these parties was merged into Janta Dal(United)? 

 (A) Samajwadi Party (B) Samta Party  

 (C) Rashtriya Janta Dal (D) Lok Janshakti Party 

 

9- fdl laoS/kkfud la'kks/ku }kjk lafo/kku dh izLrkouk esa */keZfujis{k^ 'kCn tksM+k x;k^\ 

 (A) 40 ok¡ (B) 42 ok¡  

 (C) 44 ok¡ (D) 48 ok¡ 

By which Constitutional amendment the word ‘Secular’ was added to the Preamble of the 

Constitution? 

 (A) 40th  (B) 42nd   

 (C) 44th  (D) 48th  

 

10- buesa ls dgk¡ ,dkRed 'kklu O;oLFkk gS\ 

 (A) Hkkjr (B) vesfjdk  

 (C) dukMk (D) Jhyadk 
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 Which of the following is a Unitary system of government? 

 (A) India (B) America  

 (C) Canada (D) Sri Lanka 

 

11- buesa ls fdl jkT; dks fo'ks"k ntkZ izkIr gS\ 

 (A) v:.kkpy izns'k (B) fcgkj  

 (C) rfeyukMq (D) mÙkj izns'k 

 Which of these States has special status? 

 (A) Arunachal Pradesh (B) Bihar  

 (C) Tamil Nadu (D) Uttar Pradesh 

 

12- dsUnz esa igyh ckj xSj dkaxzslh ljdkj dk xBu fdldh v/;{krk esa gqvk \ 

 (A) eksjkjth nslkbZ (B) vVy fcgkjh oktis;h  

 (C) bUnz dqekj xqtjky (D) ohŒ ihŒ flag 

Under whose chairmanship was the non-congress government formed at the centre for the first 

time? 

 (A) Morarji Desai (B) Atal Bihari Vajpayee  

 (C) Indra Kumar Gujral (D) V. P. Singh 

 

13- ikuh ds futhdj.k ds dkj.k dgk¡ tula?k"kZ gqvk Fkk \ 

 (A) ukbthfj;k (B) cksfyfo;k  

 (C) Jhyadk (D) osLV baMht 

 Where was the public struggle held due to privatization of water? 

 (A) Nigeria (B) Bolivia  

 (C) Sri Lanka (D) West Indies 
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14- lafo/kku lHkk dk xBu dc gqvk Fkk \ 

 (A) 1946 (B) 1947  

 (C) 1948 (D) 1950 

 When was the Constituent Assembly formed? 

 (A) 1946 (B) 1947  

 (C) 1948 (D) 1950 

 

15- fcgkj iapk;rh jkt vf/kfu;e 2006 ds vuqlkj efgykvksa ds fy, fdrus izfr'kr vkj{k.k 

dk izko/kku gS \ 

 (A) 27% (B) 33%  

 (C) 50% (D) 65% 

 What percentage of reservation is there for women according to Bihar Panchayati Raj Act? 

 (A) 27% (B) 33%  

 (C) 50% (D) 65% 

 

16- xzke dpgjh dk iz/kku dkSu gksrk gS \ 

 (A) eqf[k;k (B) ljiap  

 (C) iap (D) iapk;r lfpo 

 Who is the head of Village Court? 

 (A) Mukhiya (B) Sarpanch  

 (C) Panch (D) Panchayat Secretary 

 

17- ;wuku dks ,d Lora= jk"Vª dc ?kksf"kr fd;k x;k \ 

 (A) 1827 (B) 1829  

 (C) 1832 (D) 1842 
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 When was Greece declared an independent nation? 

 (A) 1827 (B) 1829  

 (C) 1832 (D) 1842 

 

18- ykyk yktir jk; us fdudh thouh fy[kh \ 

 (A) usiksfy;u (B) esftuh  

 (C) ysfuu (D) LVkfyu 

 Whose biography did Lala Lajpat Rai wirte? 

 (A) Napoleon (B) Mazini  

 (C) Lenin (D) Stalin 

 

19- jä vkSj ykSg dh uhfr dk voyEcu fdlus fd;k \ 

 (A) ysfuu (B) dkyZ ekDlZ  

 (C) ghxsy (D) fcLekdZ 

 Who advocated the policy of ‘blood and iron’? 

 (A) Lenin (B) Karl Marx  

 (C) Hegel (D) Bismarck 

 

20- jkbu jkT; la?k dk fuekZ.k fdlus fd;k Fkk \ 

 (A) fcLekdZ (B) esVjfu[k  

 (C) usiksfy;u cksukikVZ (D) ÝsMfjd 

 Who created the confederation of Rhine status? 

 (A) Bismarck (B) Metternich  

 (C) Napoleon Bonaparte (D) Frederick 
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21- czw'ksu 'kS¶V uked lHkk dh LFkkiuk dgk¡ gqbZ\ 

 (A) teZuh (B) Ýkal  

 (C) bVyh (D) fczVsu 

 Where was the organization Burschens chaft established? 

 (A) Germany (B) France  

 (C) Italy (D) Britain 

 

22- fuEufyf[kr esa ls dkSu ;wVksfi;u lektoknh Fkk \ 

 (A) lsaV lkbeu (B) jkcZV vksou  

 (C) yqbZ Cyka (D) buesa ls lHkh 

 Which of the following was a Utopian Socialist? 

 (A) Saint Simon (B) Robert Owen  

 (C) Louis Blanc (D) All of these 

 

23- cksY'ksfod ØkfUr dks bueas ls fdl uke ls tkuk tkrk gS \ 

 (A) tqykbZ ØkfUr (B) Qjojh ØkfUr  

 (C) vDVwcj ØkfUr (D) ekpZ ØkfUr 

 By which of these names is the Bolshevik Revolution known? 

 (A) July Revolution (B) February Revolution  

 (C) October Revolution (D) March Revolution 

 

24- buesa ls dkSu xqIr iqfyl laxBu gS \ 

 (A) yky lsuk (B) tsdksfcu  

 (C) psdk (D) tksyosfju 
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 Which of the following is a secret police organization? 

 (A) Red Army (B) Jecobins  

 (C) Cheka (D) Zollverein 

 

25- ujksÙke flagkuqd us jktuhfr ls laU;kl dc fy;k \ 

 (A) 1975 (B) 1978  

 (C) 1970 (D) 1980 

 When did Norodom Sihanouk retire from politics? 

 (A) 1975 (B) 1978  

 (C) 1970 (D) 1980 

 

26- Hkkjr esa jsyos dh 'kq:vkr fdlds 'kkludky esa gqbZ \ 

 (A) ykWMZ dtZu (B) ykWMZ MygkSth  

 (C) ykWM fjiu (D) ykWMZ fe.Vks 

 During whose reign was the railway started in India? 

 (A) Lord Curzon (B) Lord Dalhousie  

 (C) Lord Ripon (D) Lord Minto 

 

27- xk¡/kh us nkaMh ;k=k dh 'kq:vkr dgk¡ ls dh \ 

 (A) nkaMh leqnzrV (B) lkcjerh vkJe   

 (C) dkyhdV (D) ckjnksyh 

 From where did Gandhi start the Dandi March? 

 (A) Dandi Beach (B) Sabarmati Ashram  

 (C) Calicut (D) Bardoli 
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28- Lojkt ikVhZ dk izFke lEesyu dgk¡ gqvk Fkk \ 

 (A) y[kuÅ (B) cEcbZ  

 (C) dydÙkk (D) bykgkckn 

 Where was the first conference of Swaraj Party held? 

 (A) Lucknow (B) Bombay  

 (C) Calcutta (D) Allahabad 

 

29- buesa ls fdUgsa lhekUr xk¡/kh ds uke ls tkuk tkrk gS \ 

 (A) lhŒ jktxksikykpkjh (B) eksgEen vyh ftUuk  

 (C) [kku vCnqy x¶Qkj [kku (D) Lokeh lgtkuUn ljLorh 

 Who among these is known as Frontier Gandhi? 

 (A) C. Rajagopalachari (B) Mohammad Ali Jinnah  

 (C) Khan Abdul Gaffar Khan (D) Swami Sahajanand Saraswati 

 

30- *osnksa dh vksj ykSVkŝ  dk ukjk fdlus fn;k \ 

 (A) n;kuUn ljLorh (B) jktk jke eksgu jk;  

 (C) fprjatu nkl (D) bZ'oj pUnz fo|klkxj 

 Who gave the slogan of “Go back to the Vedas”? 

 (A) Dayanand Saraswati (B) Raja Ram Mohan Roy  

 (C) Chittaranjan Das (D) Ishwar Chandra Vidyasagar 

 

31- fcgkj izkarh; fdlku lHkk dh LFkkiuk fdlus dh \ 

 (A) lgtkuan ljLorh (B) Lokeh foosdkuUn  

 (C) t;izdk'k ukjk;.k (D) Jhd`".k flag 
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 Who founded Bihar Provincial Kisan Sabha? 

 (A) Sahajanand Saraswati (B) Swami Vivekanand  

 (C) Jayprakash Narayan (D) Sri Krishan Singh 

 

32- Hkkjr esa igyk QSDVªh ,DV dc ikfjr gqvk Fkk \ 

 (A) 1850 (B) 1875  

 (C) 1881 (D) 1920 

 When was the first Factory Act passed in India? 

 (A) 1850 (B) 1875  

 (C) 1881 (D) 1920 

 

33- fczfV'k laln ds fdl vf/kfu;e us Hkkjr esa O;kikj ij bZLV bafM;k daiuh ds ,dkf/kdkj 

dks lekIr dj fn;k \ 

 (A) fofu;eu vf/kfu;e (B) fiV~l bafM;k ,DV  

 (C) 1813 dk pkVZj vf/kfu;e (D) bycVZ fcy 

Which Act of the British Parliament ended the monopoly of the East India Company on trade in 

India? 

 (A) Regulation Act (B) Pitt’s India Act  

 (C) The Charter Act of 1813 (D) Ilbert Bill 

 

34- flVh vkWQ ckWEcs bEçwoesaV VªLV dh LFkkiuk ds ihNs buesa ls D;k dkj.k Fkk \ 

 (A) lkekftd ØkfUr (B) Iysx egkekjh  

 (C) vkfFkZd ØkfUr (D) uLyh; foHkktu 
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Which of the following was the reason behind the establishment of ‘City of Bombay 

Improvement Trust’? 

 (A) Social Revolution (B) Plague Epidemic  

 (C) Economic Revolution (D) Racial division 

 

35- lkseizdk'k lkIrkfgd if=dk dk izdk'ku fdlus fd;k Fkk \ 

 (A) ds'kopUnz lsu (B) bZ'ojpUnz fo|klkxj  

 (C) Hkkjrsanq gfjpUUnzz (D) eksrhyky ?kks"k 

 Who published Som Prakash Weekly magazine? 

 (A) Keshav Chandra Sen (B) Ishwar Chandra Vidyasagar  

 (C) Bhartendu Harischandra (D) Moti Lal Ghosh 

 

36- *U;w bafM;k^ lekpkji= dks fdlus 'kq: fd;k \ 

 (A) ckyxaxk/kj fryd (B) egkRek xk¡/kh  

 (C) ,uh cslsaV (D) yky gjn;ky 

 Who started the newspaper, ‘New India’? 

 (A) Bal Gangadhar Tilak (B) Mahatma Gandhi  

 (C) Annie Besant (D) Lala Hardayal 

 

37- js'ke ekxZ dgk¡ ls vkjaHk gksrk Fkk \ 

 (A) Hkkjr (B) bZjku  

 (C) phu (D) bjkd 

 From where did the Silk route begin? 

 (A) India (B) Iran  

 (C) China (D) Iraq 
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38- bu ns'kksa esa ls dkSu izkdf̀rd lalk/kuksa esa vR;Ur foiUu gS \ 

 (A) Hkkjr (B) phu  

 (C) l;aqä jkT; vesfjdk (D) tkiku 

 Which of these countries is extremely poor in natural resources? 

 (A) India (B) China  

 (C) United State of America (D) Japan 

 

39- bu jkT;ksa esa ls dkSu lokZf/kd oukoj.k okyk gS \ ¼buesa ls fdl jkT; esa lcls vf/kd ou {ks= gaS\½ 

 (A) v:.kkpy izns'k (B) vksfM'kk  

 (C) NÙkhlx<+ (D) e/; izns'k 

 Which of these states has the most forest cover? 

 (A) Arunachal Pradesh (B) Odisha  

 (C) Chhattisgarh (D) Madhya Pradesh 

 

40- jksfgYyk jk"Vªh; m|ku dgk¡ fLFkr gS \ 

 (A) egkjk"Vª (B) fgekpy izns'k  

 (C) if'pe caxky (D) vksfM'kk 

 Where is Rohilla National Park located? 

 (A) Maharashtra (B) Himachal Pradesh  

 (C) West Bengal (D) Odisha 

 

41- lkxj lezkV D;k gS \ 

 (A) ck¡/k (B) virVh; rsy fjx  

 (C) canjxkg (D) buesa ls dksbZ ugha 
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 What is Sagar Samrat? 

 (A) Dam (B) Offshore Oil rig  

 (C) Port (D) None of these 

 

42- :l ds lg;ksx ls fdl ijek.kq fo|qr x`g dk fuekZ.k fd;k x;k Fkk \ 

 (A) dkdjkikj ijek.kq fo|qr x`g (B) dSxk ijek.kq fo|qr x`g  

 (C) dqMudqye ijek.kq fo|qr x`g (D) dyiDde ijek.kq fo|qr xg̀ 

 Which nuclear power plant was constructed with the cooperation of Russia? 

 (A) Kakrapar Atomic Power Station (B) Kaiga Atomic Power Station  

 (C) Kudankulam Nuclear Power Plant (D) Kalpakkam Nuclear Power Plant 

 

43- buesa ls fdls lqugjk js'kk dgk tkrk gS \ 

 (A) dikl (B) lu  

 (C) js'ke (D) twV 

 Which of these is called golden fibre? 

 (A) Cotton (B) Flax  

 (C) Silk (D) Jute 

 

44- fuEufyf[kr esa ls fdlls vaxksjk Åu izkIr fd;k tkrk gS \ 

 (A) cdjh (B) HksM+  

 (C) [kjxks'k (D) Å¡V 

 Angora wool is obtained from which of the following? 

 (A) Goat (B) Sheep  

 (C) Rabbit (D) Camel 
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45- Hkkjr esa ykSg bLikr dk igyk dkj[kkuk dgk¡ LFkkfir fd;k x;k Fkk \ 

 (A) rfeyukMq (B) if'pe caxky  

 (C) >kj[k.M (D) dukZVd 

 Where was the first iron and steel factory established in India? 

 (A) Tamil Nadu (B) West Bengal  

 (C) Jharkhand (D) Karnataka 

 

46- Hkksiky =klnh esa fdl xSl dk fjlko gqvk Fkk \ 

 (A) dkcZu eksuks vkWDlkbM (B) lYQj MkbZ vkWDlkbM  

 (C) feFkkby vkblkslkbusV (D) buesa ls lHkh 

 Which gas was leaked in Bhopal tragedy? 

 (A) Carbon Monoxide (B) Sulphur dioxide  

 (C) methyl Isocyanate (D) All of these 

 

47- Hkkjr dk lcls yack jk"Vªh; jktekxZ dkSu gS \ 

 (A) NH-1 (B) NH-44  

 (C) NH-30 (D) NH-4 

 Which is the longest national Highway of India? 

 (A) NH-1 (B) NH-44  

 (C) NH-30 (D) NH-4 

 

48- lcls cM+k jsy tksu dkSu gS \ 

 (A) e/; jsyos (B) mÙkj jsyos  

 (C) if'pe jsyos (D) iwoZ jsyos 
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 Which is the largest Rail Zone? 

 (A) Central Railway (B) Northern Railway  

 (C) Western Railway (D) Eastern Railway 

 

49- ok;q ifjogu dk jk"Vªh;dj.k dc fd;k x;k Fkk \ 

 (A) 1933 (B) 1947  

 (C) 1950 (D) 1953 

 When was air transport nationalized? 

 (A) 1933 (B) 1947  

 (C) 1950 (D) 1953 

 

50- lfn;k ls /kqcjh rd dkSu jk"Vªh; tyekxZ gS \ 

 (A) jk"Vªh; tyekxZ &1  (B) jk"Vªh; tyekxZ &2  

 (C) jk"Vªh; tyekxZ &3 (D) jk"Vªh; tyekxZ &5 

 Which national Waterway is from Sadiya to Dhubri? 

 (A) National Waterway-1 (B) National Waterway-2  

 (C) National Waterway-3 (D) National Waterway-5 

 

51- QkYVk fo'ks"k vkfFkZd {ks= dgk¡ gS \ 

 (A) mÙkj izns'k (B) egkjk"Vª  

 (C) if'pe caxky (D) xqtjkr 

 Where is Falta special Economic Zone? 

 (A) Uttar Pradesh (B) Maharashtra  

 (C) West Bengal (D) Gujarat 
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52- eksuktkbV fdl jkT; esa lkokZf/kd ik;k tkrk gS \ 

 (A) dsjy (B) jktLFkku  

 (C) fgekpy izns'k (D) egkjk"Vª 

 In which state is Monazite found the most? 

 (A) Kerala (B) Rajasthan  

 (C) Himachal Pradesh (D) Maharashtra 

 

53- Hkkjr dk dkWVuksiksfyl fdl uxj dks dgk tkrk gS \ 

 (A) dkuiqj (B) eqacbZ  

 (C) lwjr (D) dksydkrk 

 Which city is called the Cottonopolis of India? 

 (A) Kanpur (B) Mumbai  

 (C) Surat (D) Kolkata 

 

54- dqnzseq[k esa dkSu [kfut ik;k tkrk gS \ 

 (A) dks;yk (B) lksuk  

 (C) rk¡ck (D) ykSg v;Ld 

 Which mineral is found in Kudremukh? 

 (A) Coal (B) Gold  

 (C) Copper (D) Iron ore 

 

55- f=os.kh ugj dk fuekZ.k dgk¡ fd;k x;k gS \ 

 (A) if'peh pEikj.k (B) xksikyxat  

 (C) njHkaxk (D) Hkkstiqj 
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 Where has the Triveni Canal been constructed? 

 (A) West Champaran (B) Gopalganj  

 (C) Darbhanga (D) Bhojpur 

 

56- bu ifj;kstukvksa esa ls dkSu lhrke<+h ftys esa fLFkr gS \ 

 (A) nqxkZorh tyk'k; ifj;kstuk (B) ckxerh ifj;kstuk  

 (C) lksu unh ifj;kstuk (D) cjukj tyk'k; ifj;kstuk 

 Which of these project is located in Sitamarhi district? 

 (A) Durgavati Reservoir Project (B) Bagmati Project  

 (C) Son River Project (D) Barnar Reservoir Project 

 

57- vHkzd mRiknu esa Hkkjr dk fo'o esa dkSu lk LFkku gS \ 

 (A) igyk (B) nwljk  

 (C) rhljk (D) pkSFkk 

 What is the position of India in the world in mica production? 

 (A) First (B) Second  

 (C) Third (D) Fourth 

 

58- Hkkjr esa pk; dk vxz.kh mRiknd jkT; dkSu gS \ 

 (A) dsjy (B) rfeyukMq  

 (C) if'pe caxky (D) vle 

 Which is the leading tea producing state in India? 

 (A) Kerala (B) Tamil Nadu  

 (C) West Bengal (D) Assam 
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59- ,Y;qfefu;e cukus ds fy, fdl [kfut dh vko';drk iM+rh gS \ 

 (A) eSaxuht (B) ykSg v;Ld  

 (C) ckWDlkbV (D) fVu 

 Which mineral is required to make aluminium? 

 (A) Manganese (B) Iron ore  

 (C) Bauxite (D) Tin 

 

60- 50 lseh ls de o"kkZ okys {ks=ksa esa dkSu lh fLFkfr mRiUu gksrh gS \ 

 (A) ck<+ (B) lw[kk  

 (C) lqukeh (D) HkwL[kyu 

 Which condition occurs in areas with less than 50cm rainfall? 

 (A) Flood (B) Drought  

 (C) Tsunami (D) Landslide 

 

61- fdl unh dks fcgkj esa ck<+ dk eq[; dkj.k ekuk tkrk gS \ 

 (A) xaxk (B) lksu  

 (C) dkslh (D) iquiqu 

 Which river is considered to be the main cause of flood in Bihar? 

 (A) Ganga (B) Son  

 (C) Kosi (D) Punpun 

 

62- bu izkdf̀rd vkinkvksa esa ls dkSu fcgkj dks izfro"kZ izHkkfor djrk gS \ 

 (A) HkwdEi (B) lqukeh  

 (C) HkwL[kyu (D) ck<+ 
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 Which of these natural disaster’s effects Bihar every year? 

 (A) Earthquake (B) Tsunami  

 (C) Landslide (D) Flood 

 

63- vf/kdsUnz dk lEcU/k buesa ls fdlls gS \ 

 (A) ck<+ (B) lw[kk  

 (C) HkwdEi (D) HkwL[kyu 

 Epicentre is related to which of these? 

 (A) Flood (B) Drought  

 (C) Earthquake (D) Landslide 

 

64- Hkkjr esa tula[;k dh n`f"V ls fcgkj dk dkSu lk LFkku gS \ 

 (A) igyk (B) nwljk  

 (C) rhljk (D) pkSFkk 

 What is the rank of Bihar in terms of populations in India? 

 (A) First (B) Second  

 (C) Third (D) Fourth 

 

65- izfr O;fä vk; dks buesa ls fdl uke ls tkurs gSa \ 

 (A) lhekUr vk; (B) dqy vk;  

 (C) jk"Vªh; vk; (D) vkSlr vk; 

 By which of the following names is per capita income known? 

 (A) Marginal Income (B) Total Income  

 (C) National Income (D) Average Income 
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66- fofue; dh izkjafHkd voLFkk esa O;kikj fdl ij vk/kkfjr Fkk \ 

 (A) oLrq fofue; iz.kkyh (B) ekSfnzd fofue; iz.kkyh  

 (C) cSafdax iz.kkyh (D) buesa ls lHkh 

 What was trade based on in the early stages of exchange? 

 (A) Barter System (B) Monetary System  

 (C) Banking System (D) All of these 

 

67- eSdyxu lfefr dk laca/k buesa ls fdlls gS \ 

 (A) dj iz.kkyh (B) lgdkfjrk  

 (C) jk"Vªh; vk; (D) xjhch 

 Maclagan Committee is related to which of the following? 

 (A) Tax System (B) Co-operative  

 (C) National Income (D) Poverty 

 

68- y?kq m|ksxkas dh vf/kdre fuos'k lhek D;k gS \ 

 (A) ,d djksM+ (B) 3 djksM+  

 (C) 5 djksM+ (D) 7 djksM+ 

 What is the maximum investment limit of small scale industries? 

 (A) One Crore (B) 3 Crore  

 (C) 5 Crore (D) 7 Crore 

 

69- uhfr vk;ksx dk insu v/;{k dkSu gS \ 

 (A) jk"Vªifr (B) iz/kkuea=h  

 (C) foÙkea=h (D) foÙk lfpo 
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 Who is the Ex-officio chairman of NITI Aayog? 

 (A) President (B) Prime Minister  

 (C) Finance Minister (D) Finance Secretary 

 

70- ekuo ifjJe ls vftZr /ku D;k dgykrk gS \ 

 (A) vk; (B) O;;  

 (C) fuos'k (D) cpr 

 What is money earned through human labour called? 

 (A) Income (B) Expenditure  

 (C) Investment (D) Saving 

 

71- Hkkjrh; fjtoZ cSad dk jk"Vªh;dj.k dc gqvk Fkk \ 

 (A) 1921 (B) 1935  

 (C) 1949 (D) 1952 

 When was the Reserve Bank of India nationalized? 

 (A) 1921 (B) 1935  

 (C) 1949 (D) 1952 

 

72- buesa ls dkSu lkekftd vk/kkjHkwr lajpuk dk Hkkx gS \ 

 (A) lapkj (B) ;krk;kr  

 (C) f'k{kk (D) foÙk 

 Which of the following is a part of social infrastructure? 

 (A) Communication (B) Transportation  

 (C) Education (D) Finance 
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73- la;qä jk"Vª us fdls varjk"Vªh; lgdkfjrk o"kZ ?kksf"kr fd;k \ 

 (A) 1985 (B) 2010  

 (C) 2012 (D) 2018 

 Which year was declared by the United Nations as the International Year of Co-operatives? 

 (A) 1985 (B) 2010  

 (C) 2012 (D) 2018 

 

74- miHkksäk vf/kdkjksa dh ?kks"k.kk loZizFke dgk¡ dh xbZ Fkh \ 

 (A) dukMk (B) Hkkjr  

 (C) vesfjdk (D) ckaXykns'k 

 Where were Consumer rights first announced? 

 (A) Canada (B) India  

 (C) America (D) Bangladesh 

 

75- fo'o dh fofHkUu vFkZO;oLFkkvksa dks ,d nwljs ls tksM+us okyh izfØ;k dks D;k dgrs gSa \ 

 (A) mnkjhdj.k (B) futhdj.k  

 (C) oS'ohdj.k (D) buesa ls lHkh 

 What is the process of connecting different economics of the world with each other called? 

 (A) Liberalization (B) Privatization  

 (C) Globalization (D) All of these 

 

76- buesa ls dkSu laLFkkxr foÙkh; L=ksr dk mnkgj.k gS \ 

 (A) okf.kfT;d cSad (B) lgdkjh cSad  

 (C) {ks=h; xzkeh.k cSad (D) buesa ls lHkh 
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 Which of the following is an example of an institutional financial source? 

 (A) Commercial Bank (B) Co-operative Bank  

 (C) Regional Rural bank (D) All of these 

 

77- Hkkjr dk vf/kdka'k dk;Zcy fdl {ks= esa dk;ZjÙk gS \ 

 (A) izkFkfed {ks= (B) f}rh;d {ks=  

 (C) rr̀h;d {ks= (D) buesa ls dksbZ ugha 

 In which sector is most of India’s workforce employed? 

 (A) Primary Sector (B) Secondary Sector  

 (C) Tertiary Sector (D) None of these 

 

78- Hkkjr esa ekSfnzd uhfr dk fu/kkZj.k dkSu djrk gS \ 

 (A) Hkkjr ljdkj (B) foÙk ea=ky;  

 (C) Hkkjrh; fjtoZ cSad (D) foÙk vk;ksx 

 Who decides the monetary policy in India? 

 (A) Indian Government (B) Ministry of Finance  

 (C) Reserve Bank of India (D) Finance commission 

 

79- Hkwfe fodkl cSad dks igys fdl uke ls tkuk tkrk Fkk \ 

 (A) {ks=h; xzkeh.k cSad (B) Hkwfe ca/kd cSad  

 (C) lgdkjh cSad (D) buesa ls dksbZ ugha 

 By what name was land Development bank earlier known? 

 (A) Regional Rural bank (B) land Mortgage Bank  

 (C) Co-operative Bank (D) None of these 
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80- buesa ls fdl tek esa dksbZ C;kt ugha feyrk gS \ 

 (A) LFkk;h tek (B) lap;h tek  

 (C) vkorhZ tek (D) pkyw tek 

 Which of these deposits does not earn any interest? 

 (A) Fixed Deposit (B) Recurring Deposit  

 (C) Term Deposit (D) Current Deposit 

 

 

 

[k.M & c @ Section-B 

bfrgkl @ History 

 

y?kq mÙkjh; iz'u @ Short Answer Type Questions 

iz'u la[;k 1 ls 6 rd ds y?kq mÙkjh; gSaA fdUgha 3 iz'uksa ds mÙkj nsaA izR;sd iz'u ds fy, 

2 vad fu/kkZfjr gSaA 3 x 2 = 6 

Question Nos 1 to 6 are short Answer Type. Answer any 3 questions. Each question carries 2 marks.

 3 x 2 = 6 

1- teZuh ds ,dhdj.k dh nks ck/kk,¡ crkb,A 2 

Write two obstacles to the unification of Germany. 

 

2- gks&ph&feUg ekxZ dh D;k mi;ksfxrk Fkh \ 2 

What was the usefulness of the Ho-Chi-Minh route? 

 

3- baXySaM dh vkS|ksfxd ØkfUr dk Hkkjrh; dqVhj ,oa gLr f'kYi m?kksxksa ij D;k izHkko iM+k 

\ 2 

What impact did England’s Industrial Revolution have on Indian cottage and handicraft 

industries? 

Stu
dy
Ra
w.
Co
m

Stu
dy
Ra
w.
Co
m

Stu
dy
Ra
w.
Co
m

Stu
dy
Ra
w.
Co
m

Stu
dy
Ra
w.
Co
m

Stu
dy
Ra
w.
Co
m

Stu
dy
Ra
w.
Co
m

Stu
dy
Ra
w.
Co
m

Stu
dy
Ra
w.
Co
m



 
Page 27 of 32 

 

 

 

4- 'kgjhdj.k dk e/;e oxZ ij D;k izHkko iM+k\ 

What effect did Urbanization have on the Middle-Class? 

 

5- f[kykQr vkanksyu dk D;k dkj.k Fkk \ 

What was the reason for Khilafat Movement? 

 
6- vlg;ksx vkUnksyu D;ksa okil fy;k x;k Fkk \ 

Why was the non-cooperation movement withdrawn? 

 

 

nh?kZ mÙkjh; iz'u @ Long Answer Type Questions 

iz'u la[;k 7 vkSj 8 nh?kZ mÙkjh; gaSA fdlh ,d iz'u dk mÙkj nsaA izR;sd iz'u ds fy, 4 

vad fu/kkZfjr gaSA 1 x 4 = 4 

Question Nos 7 and 8 are Long Answer Type. Answer any one question. Each question carries 4 

marks. 1 x 4 = 4 

 

7- Hkkjrh; jk"Vªh; vkanksyu esa lR;kxzg dh Hkwfedk dh foosnuk djsaA 4 

Discuss the role of Satyagraha in the Indian national movement. 

 

8- ubZ vkfFkZd uhfr (NEP) fdl izdkj ekDlZoknh fl)kUrksa ds lkFk le>kSrk Fkh \ 4 

How was the New Economic Policy (NEP) a compromise with Marxist principles? 
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jktuhfr foKku@ Political Science 

 

y?kq mÙkjh; iz'u @ Short Answer Type Questions 

iz'u la[;k 9 ls 12 rd y?kq mÙkjh; gaSA fdUgha 2 iz'uksa ds mÙkj nsaA izR;sd iz'u ds fy, 2 

vad fu/kkZfjr gSaA 2 x 2 = 4 

Question Nos 9 to 12 are Short Answer Type. Answer any 2 questions. Each question carries 2 

marks. 2 x 2 = 4 

 

9- iapk;rh jkt dh f=Lrjh; laLFkkvksa ds uke crkb,A 2 

 Name the three tier institutions of Panchayati Raj. 

 

10- leorhZ lwph ls vki D;k le>rs gSa \ 2 

 What do you mean by Concurrent list? 

 

11- jk"Vªh; jktuhfrd ny fdls dgrs gSa \ 2 

 What is a National Political Party? 

 

12- ny cny dkuwu fdl ij ykxw gksrk gS \ 2 

 To whom does the anti-defection law apply? 

 

nh?kZ mÙkjh; iz'u @ Long Answer Type Questions 

iz'u la[;k 13 ,oa 14 nh?kZ mÙkjh; gSaA fdlh ,d iz'u dk mÙkj nsaA izR;sd iz'u ds fy, 4 

vad fu/kkZfjr gaSA 1 x 4 = 4 

Question Nos 13 and 14 are Long Answer Type. Answer any one question. Each question carries 4 

marks. 

 1 x 4 = 4 

 

13- vf'k{kk fdl izdkj lQy yksdra= ds fy, pqukSrh gS \ 4 

 How is illiteracy a challenge to a successful democracy? 
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14- lÙkk dh lk>snkjh ds vyx&vyx rjhds D;k gSa \ 4 

 What are the different methods of power sharing? 

 

vFkZ'kkL=@ Economics 

 

y?kq mÙkjh; iz'u @ Short Answer Type Questions 

iz'u la[;k 15 ls 18 rd y?kq mÙkjh; gSaA fdUgha 2 iz'uksa ds mÙkj nsaA izR;sd iz'u ds fy, 

2 vad fu/kkZfjr gSaA 2 x 2 = 4 

Question Nos 15 to 18 are Short Answer Type. Answer any 2 questions. Each question carries 2 

marks. 2 x 2 = 4 

 

15- mnkjoknh vkfFkZd iz.kkyh ls D;k vfHkizk; gS \ 2 

What is meant by Liberal Economic System? 

 

16- izfrHkwfr cktkj ls vki D;k le>rs gSa \ 2 

What do you understand by Stock Market? 

 

17- okf.kfT;d cSadks ds dksbZ nks ,tsalh dk;Z crkb,A 2 

Mention any two agency functions of Commercial Bank? 

 

18- xjhch js[kk dks ifjHkkf"kr djsaA 2 

Define Poverty line.  
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nh?kZ mÙkjh; iz'u @ Long Answer Type Questions 

iz'u la[;k 19 ,oa 20 nh?kZ mÙkjh; gaSA fdlh ,d iz'u dk mÙkj nsaA izR;sd iz'u ds fy, 4 

vad fu/kkZfjr gaSA 1 x 4 = 4 

Question Nos 19 and 20 are Long Answer Type. Answer any one question. Each question carries 4 

marks. 

 1 x 4 = 4 

 

19- Hkkjr tSls fodkl'khy ns'k esa lw{e foÙkh; laLFkkvksa dh mi;ksfxrk dh foospuk djsaA 4 

 Discuss the usefulness of micro financial institutions in a developing country like India. 

 

20- oS'ohdj.k dh izfØ;k esa cgqjk"Vªh; dEifu;ksa dh Hkwfedk dh foospuk djsaA 4 

 Discuss the role of multinational companies in the process of globalization. 

 

 

Hkwxksy@ GEOGRAPHY 

 

y?kq mÙkjh; iz'u @ Short Answer Type Questions 

iz'u la[;k 21 ls 26 rd ds y?kq mÙkjh; gaSA fdUgha 3 iz'uksa ds mÙkj nsaA izR;sd iz'u ds 

fy, 2 vad fu/kkZfjr gSaA 3 x 2 = 6 

Question Nos. 21 to 26 are Short Answer Type. Answer any 3 questions. Each question carries 2 

marks. 3 x 2 = 6 

 

21- 'kq"d d`f"k dks ifjHkkf"kr djsaA 2 

Define Dry farming. 

 

22- vk/kkjHkwr m|ksxksa ls D;k vfHkizk; gS \ 2 

What is meant by basic Industries? 
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23- Hkkjr esa tyks<+ eǹk eq[;r% dgk¡ ik;h tkrh gS \ 2 

Where is alluvial Soil mainly found in India? 

 

24- xzsQkbV dk mi;ksx dgk¡ fd;k tkrk gS \ 2 

Where is Graphite used? 

 

25- fcgkj dh nks unh ?kkVh ifj;kstukvksa ds uke fyf[k,A 2 

Write the names of two river vally projects of Bihar. 

 

26- e`nq ty D;k gS \ 2 

What is soft water? 

 

nh?kZ mÙkjh; iz'u @ Long Answer Type Questions 

iz'u la[;k 27 ,oa 28 nh?kZ mÙkjh; gSaA fdlh ,d iz'u dk mÙkj nsaA izR;sd iz'u ds fy, 4 

vad fu/kkZfjr gaSA 1 x 4 = 4 

Question Nos 27 and 28 are Long Answer Type. Answer any one question. Each question carries 4 

marks. 

 1 x 4 = 4 

 

27- e`nk fuekZ.k ds dkjdksa dk o.kZu djsaA 4 

Describe the factors of soil formation. 

 

28- gqxyh vkS|ksfxd {ks= dk laf{kIr fooj.k nhft,A 4 

Give a brief account of Hugli industrial region. 
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vkink izcU/ku@ Disaster Management 

 

y?kq mÙkjh; iz'u @ Short Answer Type Questions 

iz'u la[;k 29 ls 32 rd y?kq mÙkjh; gSaA fdUgha 2 iz'uksa ds mÙkj nsaA izR;sd iz'u ds fy, 

2 vad fu/kkZfjr gSaA 2 x 2 = 4 

Question Nos 29 to 32 are Short Answer Type. Answer any 2 questions. Each question carries 2 

marks. 2 x 2 = 4 

 

29- ck<+ ds dkj.kksa dk mYys[k dhft,A 2 

 Mention the causes of flood. 

 

30- HkwdEi rjaxksa ds uke fyf[k,A 2 

 Write the names of seismic waves. 

 

31- izkFkfed mipkj ls vki D;k le>rs gSa \ 2 

 What do you mean by first aid? 

 

32- vkink izca/ku esa Lo;alsoh laxBuksa dh D;k Hkwfedk gS \ 2 

 What is the role of voluntary organizations in disaster management? 
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